FROM THE TOO HARD BOX 12
By Vern Stannard

Presented with the following position I put my money on 1.Rh5 and eventually found a win for White but  next issue revealed that white actually played 1.Qc2 and  black resigned. If black could work out that the game was lost how did he let himself get into such a position?
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1.Rh5 Ng8 (1…..Bxa1, 2.Qh1 mates), 2.Qd5 [my computer first choice is 2.Qh1 to reach a 2P advantage] h6 (2…..Bxa1, 3.Bxg8 h6, 4.Bxh6 g6, 5.Bg7+ Kxg7, 6.Rh7+ Kf6, 7.f4 exf3[ep], 8.Qxf3+ Kg5 [8…..Ke5, 9.Re7+ mates], 9.Qe3+ mates OR 2.Qc7, 3.Rxh7+ Kxh7, 4.Bxg8+ Kg6, 5.Qxe4+ Kh5, 6.Rh1 mates OR 2.Be5, 3.Rxh7+ Kxh7, 4.Bxg8+ Rxg8 [4…..Kg6, 5.Qe6+ mates], 5.Qf7 mates OR 2…..g6, 3.Rxh7+ Kxh7, 4.Rh1+ Kg7 [4…..Bh4, 5.Qb7 mates], 5.Bxg8 Rxg8 [5…..Bh4, 6.Bd4+ Rf6, 6.Qf7+ mates], 6.Bh6+ mates), 3.Bxg8 Be5 (3…..Rxg8, 4.Bxh6 gxh6 [4…..g6, 5.Bf8+ gxh5, 6.Qxh5++], 5.Rxh6+ Kg7, 6.Rh7+ Kxh7, 7.Qf7+ Kh6, 8,Rh1+ Bh4, 9.Rxh4+ Kg5, 10.Rh5+ Kg4, 11.f3+ mates), 4.Bxh6 g6 (4…..gxh6, 5.Rxh6+ Kg7, 6.Rh7+ Kg6 [6…..Kf6, 7.Qe6+ Kg5, 8.Qh6+ mates], 5.Bxf8+ gxh5, 6.Rh1 Rxf8, 7.Rxh5+ Kg7, 8.Rh7+ Kg6 (8…..Kf6, 9.Qe6+ Kg5, 10.Qh6+ Kf5, 11.Be6++), 9.Qe6+ Bf6 (9…..Kg5, 10.Qh6+mates OR 9…..Rf6, 10.Qg4++), 10.Qxe4+ Kg5, 11.f4+ Kg4, 12.Be6++.

1.Qc2 d5 (1…..Bxa1 [ first computer choice], 2.Qxe4 Nf5 [2…..h6, 3.Bxh6 gxh6, 4.Rxh6+ Kg7, 5.Qh7++ IF 2…..g6, 3.Qd4+ Rf6 [[3…..Bxd4, 4.Bxd4+ mates]] 4.Rxh7+ Kxh7, 5.Qh4+ mates], 3.Bxf5 Rxf5 4.Qxf5 Kg8, 5.Qxh7+ Kf7, 6.Rxa1), 2.Rxh7+ Kxh7, 3.Rh1+ Bh4 (3…..Kg6, 4.cxd5 Nf5 [4…..Qb4, 5.a3 Rc8, 6.Qb1 Nxd5 [[6…..Qc3, 7.Qxe4+ Nf5, 8.Qxf5++]], 7.axb4 IF 4…..Bh4, 5.Qxe4+ Kf6, 6.Bd4+ Kg5, 7.Qg4+ mates], 5.Qxe4 Bg5 [5…..Bc3, 6.Qg4+ Kf6, 7.Bg5+ mates],, 6.Rh5 Kxh5 [6…..Rxd5, 7.Rxg5+ Kh7 [[7…..Kh6, 8.Bxf5 mates]], 8.Rh5+ Kg6 9.Bxd5 Qc3 [[9…..Kxh5, 10.Qg4+ Kxg4, 11.Bf3++]], 10.Qg4+ Kf6, 11.Qxf5+Ke7, 12.Qe6+ Kd8, 13.Bb6+ mates], 7.Bxf5 Qb4 [7…..Rxf5, 8.Qxf5 Rxd5, 9.g4+ mates], 8.Bg4+ Kh6, 9.Bxg5+ Kxg5 10.Qe5+ Kxg4 [10…..Rf5, 11.Qxg7++ IF 10…..Kg6, 11.Qh5+ Kf6, 12.Qf5+ Ke7, 13.Qe6++], 11.f3+ mates), 4.Rxh4+ Kg6, 5.cxd5 Rxd5 (5…..Rf5, 6.Qxe4 Rxd5, 7.Bxf5+ Rxf5 [7…..Nxf5, 8.Qe6++ IF 7…..Kf7, 8.Qe6+ mates], 8.Qe6+ Rf6. 9.Rg4+ Kh7, 10.Qxe7 mates OR 5…..Nf5, 6.Qxe4 Qc7, 7.Qg4+ Kf6, 8.Bg5+ mates O%R 5…..Qb4, 6.Rxe4 Qxe4, 7.Qxe4+ Nf5, 8.Bg8 Rf7, 9.Qg4+ Kf6,10.Bg5+ OR 5…..Nf5, 6.Qxe4 Qc7, 7.Qg4+ Kf6, 8.Bg5+ mates), 6.Qxe4+ R(5)f5 (6…..R(1)f5, 7.Bxf5+ Rxf5, 8.Qe6+ wins OR 6…..Nf5, 7.Bg8 Qb6, 8.Qg4+ Kf6, 9.Bg5+ mates), 7.g4 b4, 8.gxf5+ Rxf5, 9.Rg4+ Kh7 (9…..Kh5. 10.Bf7+ mates OR 9…..Kf6, 10.Bd4+ Re5, 11.Rg6+ mates), 10.Rg5 g6, 11.Qh4+ Kg7, 12.Bd4+.
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1.Ne5 Qb7 (1…..Nxe5, 2.Bxf6 Nd7, 3.Bxg7+ Kxg7,4.Qxh5 f5 [4…..Kf6, 5.Qh4+ Ke5, 6.Qg3+ Ke4 [[6…..Kf6, 7.Rh6++]], 7.Rh4++], 5.Qxh7+ Kf6, 6.Qg6+ Ke5, 7.Qg3+ f4 [7…..Kf6, 8.Rh6+ mates IF 7…..Ke4, 8.Bd3+ Kd4, 9.c3++],  8.Qc3+ Ke4, 9.Re1++ OR 1…..Bb7, 2.Nxd7 Nxd7, 3.Qxh5 Be4, 4.Bd3 Qc6, 5.Qxh7+ mates OR 1…..h6, 2.Nxd7 Bxd7 [2…..Nxd7, 3.Qxh5 Nf6, 4.Qxh6+ Bxh6, 5.Bxf6+ Kh7, 6.Bd3++], 3.Bxf6 Bxf6, 4.Qxh5, Bg7, 5.Qg5 Kh7, 6.Bd3+ f5, 7.Rxh6+ Bxh6, 8.Qg6+ mates), 2.Nxd7 Bxd7, 3.Bxf6 Bxf6, 4.Qxh5 Qe4, 5.Bd3 Bh4 (5…..Qh4, 6.Qxh7+ Qxh7, 7.Rxh7++), 6.Bxe4 f5, 7.Rxh4 Kg7, 8.Qxh7+ Kf6, 9.Qg6+ Ke5, 10.Qg7+ Rf6, 11.Ng6++.
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1.Qxf6+ Kd7, 2.Qg7+ Ne7 (2…..Ke6, 3.Ng5+ Kd5, 4.Rc1 Ne7 [4…..e4, 5.Qf7+ mates], 5.c6 Qb4 [5…..R(a)e8, 6.Qf7+ Kd6, 7.Qe6+ Kc7, 8.Qd7+ mates IF  5…..bxc6, 6.Qxe7+ mates IF 5…..Nxc6, 6.Qd7++ IF 5…..Qd8, 6.Qf6 Qc8, 7.Ne4 fxe4, 8.dxe4+ Kxe4, 9.Qf3++], 6.Qf6 Qc3, 7.b4 Qxc6, 8.Rc5+ Qxc5, 9.Qe6++), 3.Nxf5 R(a)e8 (3…..R(h)e8, 4.Nxe7 Rxe7, 5.Nf6+ Kd8 [5…..Ke6, 6.Qf4+ Kxf6, 7.Rxf1++], 6.Qf8+ Kc7, 7.Qxe7+ Kc6 [7…..Kc8, 8.Qd7+ Kb8, 9.Qe8+ Kc7, 10.Nd5++], 8.Qd7+ Kxc5, 9.Ne4+ Kb4, 10.Qd6+ Kb5, 11.a4+ Qxa4, 12.Qc5+ Ka6, 13.Rxe4++), 4.Nf6+ Kd8 (4…..Kc7, 5.Nxe7 Ne3, 6.Nc6+ Kxc6, 7.Qd7+ Kxc5, 8.Ne4+ Kb6, 9.Qd6+ Kb5, 10.a4+ mates OR 4…..Kc6, 5.Nxe7+ Rxe7 [5…..Kb5, 6.Nxe8 Rxe8, 7.Nd5 Kc6 [[7…..Kxc5, 8.Qd7 Qd2, 9.Rc1+ Qxc1, 10.b4++]], 8.Qh6+ Kd7, 9.Qd6+ Kc8, 10.Rc1 b5 [[10.Qd8, 11.Nb6+ mates]] 11.cxb6+ Kb7, 12.Qc6+ Ka6, 13.Nc7++] 6.Qxe7 Qd8 [6…..Qxc5, 7.Qd7+ Kb6, 8.Nd5+ Ka6, 9.Qa4+ Qa5, 10.Qc4+ Qb5, 11.Nc7+], 7.Qe6+ Kb5 [7…..Kc7, 8.Nd5+ Kb8, 9.Qxe5+ Kc8, 10.Ne7+ Kd7, 11.Rxf1 IF 7…..Kxc5, 8.Ne4+ Kb4 [[8…..Kb5, 9.a4+ Ka5, 10.b4+ Kxb4, 11.Qc4+ mates], 9.Qc4+ Ka5, 10.b4+ Kb6, 11.a4 a5, 12.Qc5+ Ka6, 13.b5++], 8..a4+ Ka5/kxc5, 9.b4+ Kxb4, 10.Qc4+ mates), 5.Nd6 Qd2 (5…..R(h)g8, 6.Nxb7+ Kc8, 7.Nxa5 Rxg7, 8.Nxe8 OR 5…..R(e)g8, 6.Nxb7+ Kc8, 7.Qxe7 Qc7, 8.Nbd6+ Kb8, 9.Nxg8 Rxg8, 10.Qe6),6…..Nf7+ Kc8, 7.Nxh8 Rd8, 8.Rxf1 Qe3+, 9.Kh1 Qxd3, 10.Rg1 Nf5 both set traps for the unwary, 11.Qf7 not Qxh7 Qa6 (11…..Rxh8, 12.Nd5 Kb8, 13.Qc7+ Ka8, 14.Qxe5), 12.Ne4 Ne3, 13.Nd6+ Kb8, 14.Qf6 Rg8, 15.N(8)f7 Ng4, 16.Qf3 Qc6, 17.h3 wins.
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1.Nd2 Bd5 (1…..axb5, 2.axb5 Qxa1, 3.Rxa1), 2.Bc4 cxd4, 3.Na7+ Kc7 (3…..Kb7, 4.Nb3 Bxc4, 5.Nxa5+ bxa5, 6.Qxc4 Kxa7, 7.Qc7+ Ka8, 8.Qxa5 OR 3…..Kb8, 4.Nb3 Bxc4 [4…..Nf6, 5.Nxa5+ bxa5, 6.Bxd5+ Nxd5, 7.Nc6 Kxc6, 8.Qxa6+], 5.Nc6+ Kc7 [5…..Ka8, 6.Qxc4 Qd5, 7.Qxa6++], 6.Qxc4 b5 [6…..Qd5, 7.Qxd5 exd5, 8.Nxe7 R(g)e8, 9.Nxd4], 7.Nxe7+bxc4, 8.Nxa5 R(g)e8, 9.N(7)c6 Rc8, 10.cxd4 Kb6,11.R(a)c1 Rxc6, 12.Nxc6 Kxc6, 13.Rxc4+), 4.Nb3 d3, 5.Qd2 Bxc4, 6.Nxa5 Bd5 (6…..bxa5, 7.Qf4+ Kb7, 8.Qxc4 Kxa7, 9.Qc7+ Ka8, 10.R(e)d1), 7.c4 Ba8 (7…..Be4, 8.Rxe4 fxe4, 9.N(5)c6 Bg5, 10.Qb4  R(d)a8, 11.a5 d2, 12.axb6+ Nxb6, 13Qa5), 8.c5 bxc5 (8…..Bxc5, 9.b4 bxa5, 10.bxc5 Kb8, 11.Qxa5 OR 8…..bxa5, 9.Qxa5+ Kb8, 10.c6  OR 8…..Nxc5, 9.b4 Ne4, 10.Qc1+ Kd7, 11.N(5)c6 d2 12.Rd1 Bd6, 13.Qc4), 9.Ra3 Kb6 (9…..c4, 10.Qf4+ Kb6  [10…..Bd6, 11.Qxc4],11.Nxc4+ Kxa7, 12.Qc7+ Bb7, 13.Rb3), 10.Rxd3 Nf6, 11.Nc8+ Rxc8, 12.Nc4+ Ka7 (12…..Kc7, 13.Qa5+ Kb8, 14.Rb3+ OR12…..Kc6, 13.Qa5 Rb8, 14.Ne5+ Kb7, 15.Nxf7 R(g)f8 [15…..Ka7, 16.Rxe6, Bb7, 17.Qb6+ Ka8, 18.Rb3 mates], 16.Rxe6 wins), 13.Rd7+ Nxd7 (13…..Kb8, 14.Qf4+ mates), 14.Qxd7+ Kb8, 15.Qxe7
